CP-1144

Shri Jain P G College, Bikaner
M.Com. (Previous) EXAMINATION, 2015

ACCOUNTANCY AND BUSINESS STATISTICS
Paper-1V
Cost Accounting and Cost Control

Time allowed : Three hours
Maximum marks : 80

Attempt any five questions in all, selecting !
least one question from each Unit. All questions
carry equal marks.

YF SFIE T 7 TH-7-FH 0F J97 F TI7 FT
EU, o7 qra guA F AT A0 T4 g T
dF qHIT &1

Unit-I

TFTs-
From the following information furnished by a hotel owner,
you are requested to advise him that what rent should be
charged from his customers per day so that he is abl¢ to earn
25% Qn the total cost other than interest : 20
U gred & @rHt g Sfud fAfofad gaamet & s a7
AT qrewl 7 ford S aret wfafew & o fawrr & afar
afee Hfem fh 38§ @mg a¥ = & AfataT 25
e o AfS & &

P.T.O.
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)

Explain procedure to install a costi

characteristics of an Ideal Cost Accounting System.

Saff salaries and wages Rs. 4.00.000 per annum,

Room attedant salary RS. 10 per day only when the
room is occupied. There is one room attendant for one
room.

Iighting. heating and power : Rs. 230 per month per

room it occupied for whole month. power is used in

winter only and cost Rs. 160 per month per room it

occupied.

Repair and maintenance Rs. 50.000 per annum.
Sundries and licence etc. Rs. 57.000 per annum.
Decoration and furnishing Rs. 50.000 per annuwm.
Building and other equipment cost Rs. 10.00.000 and
3.00.000 respectively to be depreciated ‘@ 10% per
annum.

Interest on capital outlay Rs. 12.50.000 w10%

100 rooms are there and 80% are normally occupied in

summer and 30% in winter. Period of summer and winter

be takes as six months each. Normal days in a month
to be assumed to be 30.

ne system and mention
20

sqtf F7a A1 St 41 AR |

Cp-1144

S

Unit-11
zFE-1i
3. Write short notes on the following : Sxd
Frerferfa v et fewforat fafa -
(a) Valuation of wastage
;b) Reverse cost method
(¢) Provision for unrealised profit on stock
=P TV A 399 g0 ATd F fo g
(d) Joint-product and By-product
4. Mehta Ltd. Undertook a contract for Rs. 3.00.000 on Ist
Apr. 2014. On 31st March. 2015 when the accounts were
closed. the following details about the contract were gathered :
20
St Frfers T 1 8T 2014 FT 5.00.000 7 H | 5 formi
31 T 2015 T AT A7 FA T e A 5 & A
Foam s
Material Purchased 100,000 ages Paid 45,000
General Expenses 10000 PtantPurchased 50,000
Material in hand at end 25000 Wages accrued on 131 315 5000
Work certfied 200,000 Work uncerified 15.000
Cash Received 150,000 Depreciation on Plant 5000
CP-1144 3 ; P.T.O.
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The above contract contained escalation clause which read

as follows :

“In the event of prices of material and rates of wages increaseq

by more than 5% the contract price would be increaseq
accordingly by 25% of the rise in the cost of material and
wages beyond 5% in each case.’ It was found that since the
date of signing the agreement the prices of matrial and wages
rates increased by 25%. The value of work certified does not
take into account the effect of the above clause. Prepare the
contract account.
ITET 2% § UF AW g e gwe 4v
“ofz aTasdt &7 FEAT T4T 47 #F T A7 5 qfAwT 7 AfoE
#1 3T ST & ar Ay vF 4% 9=F F g § 5 gfaed
7 ufux 22 gfg @1 25 gfave 3% g1 & gfe #C &
ST T ST g T g T #7 A o A
¥ wer vF o A1 a9 § 25 wiAer gfe & o ') s
FF FT GATHA FLG AUG TYLF AT F A H AL @l
T 1 ZE AT AT
Unit-I11
FE-111

Shanti Lid. Produces a product "A’ by mixing three raw
material. For every batch of 100 kg. of output of “A” 125
kgs. of raw material are used. In April 2015 material was
introduced. there was an output 5.600 kgs. of “M’ product.
The standard and actual particulars for April 2015 are as
under :

4 CP-1144

AT 7 faam 7 F9d1 &1 0 3AE F 99w 100 AT F
e F fo7 125 AT F47 Al #7 araesa e 2 e
qTE F FA S5.600 TFEAT F FAEA BT T oaw
T U4 ATt AT #7 gEe et s g 0w

Raw Material Standard Actual Qty.
Mix Rate Mix Rate Purchased

| 50% 40 0% 42 5000 Kg
I 0% 20 20% 15 2000 Kg
I 0% 10 20% 12 1200 Ka.

Calcuiate :

(i) Material Cost Variance
(i) Material Price Varince
(i) Material Uses Variance
(iv) Material Mix Variance
(v) Material Yield Variance
(i) &TEET AW A

(i) A g f

(i) AT FTART AT fA=I
(iv) AT fa=e

(v) AT SETE A

6. What do you understand by Cash Budget 2 Discuss the

different methods of its preparation 2 Give an imaginary
Pertorma of it. 20
CP-1144 3 P.T.O.

Scanned with CamScanner



frmfarfas wa@s a7 2015 F forr avirg) Gfaes & #5979

A1 faer=rer At s mE At g A
Unit-1V
zZFE-1V
Differentiate between marginal costing and absorption costing. |
How is marginal cost statement prepared 20
AT ST SFa i 3T AFUTI0 AN Aaidd § FT A7
= 7 ofrr AT fageer o FE g qar R S e v

I'ollowing figures relate to Nakoda Ltd. for the year 2015

20

Rs. 4.00.000
Rs. 2.00.000
Rs.
Rs. 20

Fixed Factory Overhead

Fixed Selling and Distribution Overhead
12

172

Variable Cost per unit
Selling price per unit
Calculate :

Break-Even point in units.

(a)

(h) Units to be sold to carn a target net income of Rs.
5.000 per month during the vear.

t¢1 Number of units to earn a net income of 25% on cost.

(i) Selling price perunit it Break-Even point is to be brought
down by 15,000 units.

i) Selling price to earn a profit of 20% on sales by selling

onlty 50.000 units.

6 Cp-1144

Ism%:

“f"ﬂ T-f0r faer oy 7

() 5.000 % sfamm: sz v oy 74 TF AT § a4y A

ATAT T2 |

(1) AT T 25 9fqom A1 27 247 S A s
AT |

(%) T-f=m faeg 15,000 TR T oaw A = wfy

S0.000 =FTAT T faw 79 20 vHe AT Fuy
Unit-V
-\

9. Lxplain the meaning of “Inteur A " E
plain the meaning of “Integrated Accounts Explain why
the cost and financial profitor loss in integrated svstem of
accounting do not need to be reconciled 20
Y 1 I < > >
TS § AR AT A= G A 4 =i T fomm &
10. Somi Enginecring Works Ltd. Manufacture two size of machine
components — Size A and Size B. The following data refors
‘\(\

to the vear ended 31st Mar. 2015, ()

Y Tl g fafuzs wofm & 2 e ¥ o awesy
TG A AT B 31 W 2015 FT AWE FW AR 4 %

et Aer o ©

CP-1144 7 P.T. 0.
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Size ‘A’ Size ‘B’

Production 125 Units 400 Unit<p
Sales 120 Units 360 Unil.;'
Material Cost per unit Rs. 15 Rs. 12
Wages Cost per unit Rs. 40 Rs. 30
Sales price per unit Rs. 125 Rs. 90

All expenses other than wages and material are analysed
under works overhead which during the year amounted to
Rs. 9,000 and office overhead Rs. 10,000. In fixing the selling
price. it was estimated that works overhead should be taken
50% of wages and office overhead at one third of works
cost. You are require to compute the following : (a) the tetal
cost of each unit on the basis of above overhead percentage:
(b) net profit {or the year as shown by the financial ccounts
valuing unsold stoc!. at actual maaterial and wages cost plus
works overhead at 50% of wages: (¢) reconciliation of profit
in above (b) with estimated total profit based on cost figures.
ST UE §THAT & dfaive aue =Y &REEl Suad |
e & ST a9 § 9,000 . T FAT FEATEH U= 10.000
% | AT gew % fAfoad #79 § 9% gaE oomar a1 f*
FT@TAT ST 7 F1 50 Sided T91 FEias 3at=r
AT e ST T B (o) Sugead SuferE & gfqerd
F oArare a7 gfd TR and (F) dAfm w@iE #Fogera,
AT AT 19 79T F17EMT U @t 50 gfawd
ST g faeier ot #1 @19 (7)) 3T (F) 7o a7

9FE ATW FT AT od & AT I ATy 7 foer

2600 5§ CP-1144
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CP-1135

M.Com. (Previous) EXAMINATION, 2016

ACCOUNTANCY AND BUSINESS STATISTICS
Paper-1V
Cost Accounting and Cost Control

Time allowed : Three hours

Maximum marks : 100

Attempt any five questions in all, selecting al
least one question from each Unit. All questions
carry equal marks.

YA FFE § G FH-8-FH 0F Jo7 F TI7 FT
&7, FoT wra gw & Fuv Afag/ g gEl b
S FHIT &1

4
B )

~ Unit-I
EE2ER)
1. "Cos‘t Accounting System is neither unnecessary nor expensive,

rather it is profitable investment.” Comment.

CATA @R GEfd T A TS © S T & e,
e Uk aTveTaE fAfAET 71 e difer|

2. A city municipalit, arranges for the removal of its garbage by
means of motor vehicle transport. The following vehicles are

maintained.
P.T. O.
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T WET A AIATIAH FI7-FHE €€ & oI A Iamme

gl

No. of Vehicles Specification
40 5 tonne lorries
50 4 tonne lorries
20 3 tonne lorries
20 2 tonne lorries

On an average each lorry makes 4 trips a day and in each
trip covers an average distance of 20 km. Each lorry carries
garbage weighing only 60% of its capacity on an average.
10% of the lorries are laid up for repairs every day. The
A following are the monthly charges incurred : |
H@Eaﬁaﬁmﬁ4waﬁféﬂaﬁﬁﬁ%wnﬁwﬁ
argad 20 faeft. @t g o T ¥1 A A SO e
F 60% TS F of I &1 A wfafeT 10% A awwa
&g @t o ¥ wF are § FeEfifed @w @ T

Salary : Manager Motor Vehicles Deptt. T 3,500
Salary of 2 Transport Technicians T 2,000 each
Wages of 140 drivers T 600 each
Wages of 400 labourers T 400 each
Consumable stores T 25,000
Diesed % 80,000
Lubricants

T 20,000

2 CP-1135

Replacement ol Ivres. Tubes and parts % 10,000
Garage rent and rates (adjusted in

the books of Municipality) T 3.000
Gas and Electric charges 3 2.000
There is a repairs workshop attached to Motor Vehicles
Department which also carries and repairs for office cars and
other vans and vehicles. 50% of the Manager’s salary is
debited to the workshop. Motor Vehicles Department be
charged T 15,000 a month for the services rendered by the
workshop. Assuming that a month consists of 30 days.
calculate the cost per tonne km. for removal of garbage.
Aot v ¥ ary o aomd HEwer W S
FIATHT HT FC AT 37 ATEAT 1 Y T FAT &1 FAeiT
F AT FT 50% AT FEFFT I AT ST | FEATAT
fasmr gy @ Tt et ¥ forg wiex fawmr o
15,000 Sfer e oFMET &1 78 "G g¢ fF wre 30 foT #
¥, g1 gem & gt e faufi. & s i)

Unit-TI
EC2ER ||

3. What are the special features of a nearly complete contract ?

How is the profit taken into accounts on such contracts ?

[lustrate your answer by giving examples.

CP-1135 3 P.1O.
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T & T fobr ST FOrT ST & 2 SRTETW grey oy
IO A WE FHU)

The following data are available in respect of procesg for

January 2016 :

A 2016 FEW F fow wfEAT @ @R gEant sgemy

a

g

Opening Work-in-Progress : 1800 units at ¥ 9000 (Materia]
T 5400, labour T 1080 and
overheads ¥ 2520)

Degree of completion : Material 100% labour 60%

overhead 60%

Input of Material : 18200 units at T 54600

Direct wages : T 16400

Production Overheads : T 32800

Units scrapped : 2400 units

Degree of completion : Material 100% Labour 70%
Overheads 70%

Closing Work-in-Progress : 2000 units

Degree ol Completion : Material 100% Labour 80%.
Overheads 80%

Units transferred to next process : 15600 units

4 _CP-1135

5.

Normal process loss is 10% of total input (Opening stock
+ Units introduced). Scrap value is T 3 per unit.
You are required to :
(a) Compute equivalent production using FIFO method
(b) Cost per equivalent unit for each element and cost of
abnormal loss, closing work-in-progress and units
transferred to next process, and
(c) Prepare process account.
S (37) i Ffy &7 ST FE g ARG SArad H A0
Fiforg (7) THged ST Fi Ffd IHE AT, T B
F AT, AT AT FE T A ST B TR gy
mwmﬁﬁuw(a)qﬁmaﬁm|
Unit-III
- 111
What do you mean by Flexible Budget ? Give circumstances
when it should be prepared ? Also give its advantages.
Wi awe & F A § 9w aRferfaat # qany T=
@ e far s TilRw) @ A Y adsu)

X Limited provides following data for the week ended 8th
January, 2016. .

e fofiee 8 swall 2016 # FWHH € I THE F
et it awe See O ¥
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Budgeted fixed overhead for the week
Budgeted output for 40 hours per week
Actual fixed overheads for the week

Actual output during the week ended

8th January 2016

Actual hours worked during the week

ended 8th January, 2016
Calcualate fixed overhead variances.
et SuRerd f=on &1 aftea wifsg)
Unit-IV

-1V

E

< 2800 :
2800 unitg 5

T 3000
2400 unijts

32 hours

What do you mean by Transfer Pricing ? What are its

objectives ? Explain the essential qualities of a good transfer

pricing system.

ST God & 37T T G0 © 7 36F HT I ¢
TF A SWAO AT U § A IO H AU

Fifem |

Y Ltd. sells five different styles of ladies chappals with identical

purchase costs and selling prices per pair. The company is

trying to find out the profitability of opening another store.

which will have the following expenses and revenues :

CP-1135

Y Lid. o9t g #r wfeem Twe & fAw Fwer & fwd

gfd 3375 (pair) #7 AT a41 fawa gor wfd 30 (pair)
T B mﬁrmwﬁmwmﬁaﬁwaﬁ
FT OaT AT 7T o gefad ane qr A e s

BT

Selling Price :
Variable Cost :
Cost of Purchase
Salesmen’s Commission
Total variable cost
Annual Fixed Expenses :
Rent
Salaries
2,00,000
Advertising
Other fixed expenses

Total Fixed Cost

Required :

Per Pair
4
30.00

19.50
1.50
21.00
4
60,000

80,000
20.000
3.60,000

——

(i) Calculate the annual break-even pointin units (number

of pairs) and in value. Also dgtermine the profit or loss

if 35,000 pairs of chappals are sold.
CP-1135 7 '
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(ii) The sales commissions are proposed tq be

discontinued, but instead an annual fixed amoup; , £3 )

90,000 is to be incurred on sales staff salarjeg. A
reduction in selling price of 5% is also Proposed
What will be the break-even-point in units (pairs)

(iii) It is proposed to pay store manager 50 paise per pair
as further commission. The selling price is also Pproposed
to be increased by 5%. What will be the break-even
point in units (paris) ?

(iv) Refer to the original data, if the store manager will be
paid 30 paise commission on each pair of chappal sold
in excess of the current break-even point sales. What
will be the store's net profit of 50,000 chappals pairs
will be sold ?

(i) afies wo-fasde famy gandelt (sireY) & qur e % v
aﬁﬁqw%,oooﬁ@ﬁ%ﬁﬁwwm
v g & ToET Hiforg)

(i) faFr FHeT FY A % R st @ R Ja
F &7 & 390,000 3 1 5 wﬁmﬁmﬁwﬁm
FA F ST 2 = fuft & au-fasde fawy fag

ferft et (<) v Saerar By 7

(i) R HISTE % srareer Y 50 & wh siver () srfeeT
ﬁmmmﬁqmmmaﬁa(ﬁé)ﬁmgﬂ
5 nﬁvm&agﬁwmms}aﬁw-ﬁﬁaﬁg%aﬁ’r
T (MSY) 9% Suerar g 2

8 CP-1135

10.

CP-1135 9

(iv) 9 qHE & ATUTT 97 WU Ya=IF &l FqAE qH-f=2
forrr saTEaT (STTET) & arferes faser av 30 A wfer sive
Ffrer faar S T 50.000 F1E TU H 6T 0¥ wER
FT g AT faar erm ?

Unit-V
THE-V

What is Cost Ledger Control Account ? How does it differ

from the General Ledger Adjustment Account ? Give five

examples of items which appear in these accounts.

AT @1 & far g o ® 7 37 @rEl § gEe & At

#aT % qf= IeTeIw Ayl

The net profit of Z Ltd. shown by cost accounts for the year

ended 31st Decémber, 2015 was ¥ 86.200. A scrutiny of the

figures of the financial accounts and the cost accounts
revealed the following facts :

31 fagwy 2015 &1 9 &9 a1 a9 F AFd o@ J Z
farfies &1 e @w T 86,200 feaman fasfim ot 7 avm
dEl Yt ST & AT T g A

(a) Works overhead under-recovered in cost
accounts 1,560
(b) Administrative overhead over-recovered in cost

accounts 850

P.T. O.

SRS
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(d)

€)

)
(g
(h)
(1)

y

(i) Depreciation charged in financial accounts

5,600
(ii) Depreciation recovered in cost accounts 6,250

Interest on investments not included in cost

accounts 4,000
Loss due to obsolescence charged in financial
accounts 2,850

Income Tax provided in financial accounts 20,150
Bank Interest and Transfer fees in financial books 375
Stores Adjustment - Credit in financial books 237
Loss due-to depreciation in stock values charged in

financial accounts 3,375

Prepare a statement showing reconciliation between the figure
of net profit as per Cost Accounts and the figure of net profit

to be calculated for the Financial Accounts as per

reconciliation.
ferefter @TsT 21 AT ek AT oGt g T T g e
1 far<ltar et arr e & e & e e gu g

faavor-u3 aa159 |

2,100

10 CP.1135
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CP-1130

M.Com. (Previous) Examination, 2017

ACCOUNTANCY AND BUSINESS STATISTICS

Fourth Paper
Cost Accounting and Cost Control -

Time allowed : Three hours

Maximum Marks : 100

Attempt five questions in all, selecting at least
one- questions from each unit. All questions
carry equal marks.

HAF 578 4 & 37 O 35 9F g7 & 97
PV 8V, For gid FE & Sav oy @t
TE & 31 THT 8/

UNIT -1

318 -1

1. "Cost Accounting has become an essential tool of
management". Give your comments on this statement.

ST G YaT & ARYd SUSRY &9 T § " 39 HH
R I AR gae S |

2. A factory runs its boiler on furnace oil obtained lither from
Indian Oil Depot or/and Caltex Depot. These two depots are
situated 36 and 24 kilometres respectively from the. factory
site. Transportation of oil is made by own.lank lorries. The
capacity of own tank-lorries is 5 tons a}nd trips are made only
on full load. The filling in time at Indian QOil Dep(?t averages
40 minutes and at Caltex depot 30 minutes. Emptying time in

CP-1130 (1) | P.T.O.
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the factory averages 40 minutes for all. It is ascertained from

the records that the average speed of own 1

to 36 kms. per hour, operating charges T 1.20 per K, .

covered and fixed changes ¥ 22.50 per hour of operation.™

Calculate the cost per ton-km. for each source. If the

ex-source price of the oil is ¥ 225.75 per ton at Indian Qj} -

Depot and ¥ 227.50 per ton at Caltex Depot, State which

source is economical ?
wmmmmm%@mmmw
Frerdad fear @ Fed-de wra fFan San 81 ¥E S R
FRES T HAT 36 AT 24 fhaAmeR g W Rerd €1 da
o @ e o w@g @ MieA BT T I S R
@ 3 AR F T P GHAT 5 T 8 TN TAF FIIR [
T R far o 21 @ WA # gfeEd difger fewm w
mﬁ%mﬁa@aﬂmwaofﬁﬂemwma
ﬁ%mﬁmaﬂﬁﬁaﬁzﬁmmﬁﬂemw
mﬁlﬁ@ﬁmmﬁwﬂw%ﬁﬁmaﬁaﬁaﬁ
MHﬁaeWuﬁfm%qﬁammnzoqﬁr
WWWE&H?&.SOH@IWW%
mm%maﬁmﬁamﬁmaﬁmluﬁ:éﬂ
T qed T 22575 "fa T affger four W T
?227.50nﬁfaﬂavm€wm“g‘raﬁaﬁﬂ‘iﬁﬁﬁﬂ-w
d faaerd e ?

UNIT -1I

ga1g - 1I1
What do you understand by normal and abnormz_ll loss Of'
material in the process of manufacture 9 State briefly how
each should be treated in process cost accounts.
frefor wfar # WEER @) @ g s g A 3
o TR € ? W A o A gAd P AR
fr WK fran ST =Ry, e ¥ e |

CP-1130 (2)

ank-lorries comgs

Sourabh a contractor, who prepares his account on 3lst
March eacb year, commenced a contract No. 999 on Ist July,
2015. The information at 31st March, 2016 is an under :

Material Charged Out to Site ¥2,51,000
Labour T 5,65,600
Foremen T 81,300

A Machine Costing T 2,60,000 has been on the site for 146
days. Its Working Life is estimated at 7 years and its final
scrap value at ¥ 15.000. A supervisor, who is paid ¥ 8,000 per
month, has devoted approximately one-half of his time to this
contract. All other expenses and administration amount to
¥ 1,36.500.

Material in hand at site on 31st March, Cost ¥ 35,400. The
contract price is ¥ 20,00,000. On 31st March, 2016 two-third
of the contract was completed, architects certificates had been
issued covering 50% of the contract price and T 7,50,000 had
so far been paid on account. Prepare contract account and state
how much profit or loss should be included in financial
account to 31st March, 2016 ?

W@Wﬁ,ﬁﬁﬁimmmaﬁmnﬁm’r

T 2, TP OB AT 999, 1 NS 2015 BT YR fHaAT|
31 ATd 2016 & NG oY I9 o ¥ W@ fFrfefad

T yefifd a=d € ¢

Material Charged Out to Site % 2,51,000
Labour ¥ 5,65,600
Foremen T 81,300

Tom fora arTd T 2,60,000 B, 3% W 146 & &) FHEAT
FrEfee 7 a8 At fear AT iR gEeT AN Y
Z 15,000 ¥ | vF WidEs foram 5 T 8,000 i A W
¥ QO T I WHY OB W i ) 3w g
TE T araRen @) AR T 1,36.500 TH & | B WA W
TTRf H7 99 31 AT BT T 35,400 AT| BT Hed T 20,00,000
3| 31 7 2016 aF 3@ &1 V3 W () Eof &
o1, afAeae g o AT Frifa R T ST e
mﬁmzﬁso%a&mml.sﬂ@ﬁa‘;m#

H CP-1130 (3) P.T.O.
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6.

50.000 3@ & "G B giﬁ [ Y 3k
qasa b faer @™ a1 g1 31 7 15##1%?%:16?@#
gftefera far @ @fey ? -

UNIT - 11

a8 - 11
Define 'Budget’ and ‘Budgetary Control’. State the advantages
and limitations of budgetary control in an organisation.
Toe o1 oed fg=m I R | T e §
Fored) fg=v @ @il T3 SRl &1 aoiF I
Calculate the labour variances from the following :

Preafafed gEami § 57 e ) 10 SR

Standards (9579)

Number in the Standard gang

e 7 F Fika 5P P TER)

Men 20 | Women 10

Standard wages rate per hour

(@ves worgh AR geT )

T9 T8

Standard gang-hours in a 5 days week

(sl &1 RIS AT @ di 5 139w 9wiE)

40 hours

@E -1V
On what basis transfer price can be determined ? What factors
should be considered while determining the transfer price ?
FEATRY e e el ¥ P frm o wwar @ 7
e 9y R @ AuER wEE fEE ael @) e A T
ST A@FHAT 8 7

Ram Limited having an installed capacity of one lakh units is
currently operating at 70% capacity. At current level of input
prices, the unit costs work out as follows :

I e Rred IR & U9 o gEiRdl 8, dadH
f{?O%wwmmﬁ%naﬁmwmwwﬁsm

orrg =

: -
Capacity Utilization 70% | 80% | 9% 100%
Unit Cost () 8 | 9 | s 82

The company has received the following export offers :

TR @ e ot amey o g1 8

Standard output per gang-hour

50 units

Source A 6.000 units @ T 49 per unit
Source B 11,000 units @ 48 per unit
Source C 9,000 units @ T 47 per unit

r (st &1 e sSTye W EHe)
Actual fafa®) -

Number in the acrual gang
(ErfE i F SRl &) 6l

Men 16 | Women 14

Actuaj wages rate per hour

T10 T15

—

Actual gang hours paid for

(aefs T "ot & a6

40 Hours

Actual g ,anu hours worked
(afis = v @7 4 f5Y)

39 Hours

Abnormal idle time (FTG GIAEN W)

One gang
hour

Actual ouiput (FEIREE SIg)

2400 units

UNIT -1V

CP-1130 (4)

Advice the company as to whether any or all the export order
should be accepted or not ?

FE @ WY AR P S8 Rl o1 W fafa st
P WHaR oA afed s T8 2

UNIT-V
@R -V

State the reasons for disagreement between the costing and

9,
financial returns. Prepare an imaginary reconciliation
statement.

CP-1130 (5) P.T.O.
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FROT B W B | T Hredls GHHE FR-Ty §97

PIFAT | . 1

10. The following was the trial balance of X Ltd. on Ist April
2016 as per cost ledger : \:

1 3 2016 B ANTT WAl 98 b AR e farfies
doue 79 UeR o :

Z

Store Ledger Control A/c 1,00,000 ?
(@R JIoR Fris)
Stock Ledger Control A/C 90,000 -
(e oo fgam)
Work-in-progress Ledger Control A/C 1,80,000 -
(@ wifa eoRr )
Work Overhead Suspense A/C 4.000 -
(@1 fiavee T9I)
Office Overhead Suspense A/C 2,000 -
(@i sfaREs wEI) :
Cost Ledger Control A/c - 3,76,000
(el SR =)

3,76,000 3,76,000

During the year 2016-17 following summarised position was
reported :

a¥ 2016-17 ¥ PrafaRed a”iw Rafy afafa @1 78 of -

4

Material received into store 8,00,000
(R # g am)
Material purchased for direct issue to Jobs 6,000
@ g2 @ frg @ T )
Material issued to Jobs 8,40,000
(€ 7ge AsRai @ ST A
Material issued to Service Order No. 100 1,600

| @rar e < 100 &1 W B g ErTh) ' _

CP-1130 (6)

S

Transport Expenses for incoming materials 30,000
J(amam Al & g uRded @)

Material issues to Work Order No.50 2,000
(@r B g8 B e so0 3 ford A A

Material return to supplier from stores 3,000
(ar 3 et @1 awE @) ]
Wages paid to direct worker's 5,75,000
izt sf @ forg s 1 ¢ )

Wages paid to indirect workers 70,000
(errener sfa@l @1 fag g qad )

Direct wages charged to jobs 5,67,000
(Wanwiﬁ$mﬂﬁ$maﬁi) —

Direct wages charged to Service Order No. 100

| (e o S o e to0 & R0 B K)o ———

Direct wages charged to work Order No. 50 3,000
(ﬁﬂﬁmmmm#ﬁ%ﬁaﬁmzﬁm;ﬁmw@)

Works expenses for the year, paid and due 1,00,000
(@ & forg @, 3k FRoil 1 FEion)
Office expenses for the year, paid and due 66,000
(aéa‘;%mmmtﬁ@é,ﬁﬂﬂqaﬁ?m)
Selling expenses for the year, paid and due 80,000
(aém‘maﬁmm,wﬁmmm)

20,30,000

Sales for the year

(@ @ forg fasrT)
At the end of the year th
subsidiary ledgers agree
ledgers with physical inventory.
ﬁ%ﬁﬁmaﬂaﬁtﬁﬁﬁﬂma}vﬁm

afedi @1 s § anafae ARl 7 e

e following were the balances in the
d in the case of stores and stock

donr ¥eid Erdr
fird BT o ¢
3
Stores Ledger 80,000
Stock Ledger 70,000
1,50,000
(7) P.T.O.

CP-1130
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T

Other figures were as follows : |
e

3N uHS feEg o - -
e R\
— % Ty
Material lost by the fit m()o
(e grr @) iy ared ) ' _—

Time lost by failure of power %
(1% &) Ricserar & wor @) 1 999) ' |

Works overhead charged to completed jobs m\
(Tf #rf & forg sivards @7 @rd g7 fpar )

Works overhead charged to Service Order No. 100 400
| (9% 3iteares o Jar ander s 100 @ fog @rof AT )

Works overhead charged to Work Order No. 50 700

([T 3R TR 50 ) W I BRIy Saes & BH)

Office overhead charged to completed jobs W
(Fratera sieves wr wrf @ forg et fear )

Office overhead charged to unfinished jobs 2,W
(Frifers sfaves st ARt @ fore )

Works overhead charged to unfinished Jobs 3,000 |
(e T F g wd W forar )

Selling overhead charged to product sold 75,000
(SWRIFT 971 ST A =1t fear )

All sales during the year were from stock. From the above
figures write up the Cost Ledger and prepare a trial balance as
on 31st March, 2017,

aq‘a%a‘hﬁwwﬁmmﬁﬁwmgaﬁﬂﬁﬁﬁ
AT Wl el R BN 7o 31 7/ 2017 @) e
Y] |

CP-1130 (8)
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M.Com. (Previous) Examination, 2018

CP-1143

ACCOUNTANCY & BUSINESS STATISTICS

CP-1143

Fourth Paper
(Cost Accounting and Cost Control)
Time allowed : Three hours

Maximum Marks - 100

Section-A (Marks: 2 x 10 =20)

Answer all ten questions (Answer limit 50
words). Each question carries 02 marks.

G- 3% :2x10=20)

TG TH 4l @ IR <Y (SR A s0
W) | TAD U 02 3l T 2|

Section-B (Marks : 8 x5=40)

Answer all five questions. Each question has an
internal choice (Answer limit 200 words). Each

question carries 08 marks.

-9 (9% : 8x5=40)

a9 g T @ IR U | uld ued §
flees &1 T899 X (ST W 200 &) |
Tl T¥ 08 APl BT & | :

Section-C ~ (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer
limit 500 words). Each question carries 20 marks.

g -9 (3% :20 x 2 =40)

ar # 4 52 A 7E B SR AR (SRR
AT 500 U=R) | UAF UIF 20 3Pl FT 2|

(1)
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1. ()

(i)

(iii)

(i;')

)

SECTION - A
gug—3q

What is operating costing ? Name any two undertakings
where it is to be used. [2]

qfReEme™ orTd W Y BT 9EEd § ? RS o) gl
B 9 ga] W 59 A &1 warr e e 2

Explain the meaning of  equivalent production with
reference to the valuation of work-in progress in process
costing. . . ' (2]
ufsean wrTa fFefer @& "Wed § a1 e @ qouie
B U UG BT AT FHIEY |
How is the profit on incomplete contract calculated?
(2]
Nqol ISP IR AN F 3 fFE uER Fa A o & ?

What do you understand by flexible budget ? [2]
Araefict aofe | 3y Far §Hed § 7
Calculate material cost variance from the following

informations : | [2]

fort e & | T fERer A O SR

Material 9rTfY

Standard ¥HIT Actual IS

X

120kgs @ T 5 perkg. | 112 kes @ T 5 perkg.

Y

80kgs @¥ 10perkg. | 88 kgs @ T 10 per kg.

200 200

Loss 60 50

Output IS

150 kgs

140 kgs

(vi)
CP-1143

What do you mean by break-even-point ? [2]

(2)

Al g W oy @ wwer # 2

(vii) Define the meaning of double transfer pricing. [2]

BT FRATTRY qe1 7 qRART B |

(viii) Which control accounts would be needed to be

(ix)

(x)

maintained in respect of material purchased and used in
a factory ? ’ [1'2]
TG Bl § 9 & Fa vd Su @ wre -
B A P @ v 9 s By f 2

What can be the reasons of differences between the
costing and financial returns ? [1%]
g vq foRi oat & oRvmt & sieR @ @@ s
B Wahd & ?

How will you compute the value for abnormal wastage
in process of cost accounts ? [2]

ufthar e PR & arfa srammg & 9 WY R
UHR ST P S 8 2
SECTION-B
qUE—q

LAV

2. "How the unit cost is determined in case of transport costing?

(8]

9Rega arra ke Wi & srfa ufy o @ g
UBR ST @ Wl & ?

CP-1143

(3) ~ _eToO.
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3. A product passes through three processes for completion.
quarter ending on 31° March, 2017, the costs and

During the .
production is as follows : [8] X ufsan % 1,000 zoEa frffeg & 72 e FTTE TS0
Toml X v 7 ufer gB1% A1 [ N ufEm § arPe g s e 58
: of| ST IGRSTT # yorm s & o @ S0% B
Direct Material 84.820 | 20,000 | 30,200 | 34,620 SR W AR T 8| af @ Ay
Direct Labour 1,20,000 | 30,000 | 40,000 | 50,000 ’

. 2980 o000 | 2260 4. Define budgetary control and state its main objectives.- [8]
Direct Expenses )= ) 2, g fra=m % o Sfw T > -
Production overhead 60,000 ‘ quig AT |
Normal waste on input 10% 5% 10% ’ o

. 5. The following rigures are available for the year ended 31%
Sale of scrap per unit 330 350 360 March, 2017: : [8]
Production (Units) 920 870 800 Fixed factory overhead Rs. 4,00,000
1000 units at 50 per unit were issued to process X. There was Fixed selling and Distritution overhead Rs. 2,00,000
no opening and closing stock in any process. Production Variable Cost Per Unit Rs. 12
overhead is allocated to each process on the basis of 50% of - Selling Price Per Unit ’ Rs. 20
the cost of direct labour. Prepare process accounts. (8] Calculate—
e awg Qo @9 @ forg e ufthanet # % wiRa g 21 31 (i) Brezk Even point
A, 2017 @ FEE &9 dlel o9 WE & fag orra 9 (i) Units to be sold to earn a target profit of 500 per month
Iared 1 UeR 8- during a year ) .
p— X v 7 (iii) No. of units to be sold 10 earn a net profit of 25% on.cost
> ‘ (iv) Selling price per unit to earn a profit of 20% on sales b
2 30,200 | 34,620 : Y
e 84,820 | 20,000 30, - selling 5,00,000 units. s
i 40,000 ! 50,000 !
Ty 59 1,20,00 | 30.000 | 40, 31 A1, 2017 @ QA &F del 9§ P fag A ST
e Y 7.260 |5,000 (2,260 |— g -
T aiEREE 60,000 ReR e @ Rs. 4,00,000
T W A Il 10% |5% | 10% ReR R @ faeor = , Rs. 2,00,000
wf g @by @Y z30 350 [R60 - IR e 9 s - 2 Rs. 12
I (g3 920 |870  [800 R e ot g o i Red20
— CP- .T:0.
CP-1143 (4) 1143 (5) | _ ,Prfo |
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TOTHT BT : (x) Income tax in financial books 40,300
(i) wn-f=s fig

(xi) Bank interest and transfer fees recorded

(if) T F < 25000 FRIE T FAT B 0 R B Wy in financial books only 4.750
- a:::ia Eﬁﬁlf & forg R & P o ™ -
RIkGE 0, KIEELET ~ T
) e T (i) T RS & w5y § anr 1,72,400
I i .
(iv) 500,000 sFTZAl P B FRT RAsHa W 20% @™ T @ - . (i) FIT Gt & SR o 1,36.755
fory wfir srE R e B T | (iii) T ¥ IEMAT > TBT IIR B BT 2 4,120
6. On what basis transfer price can be determined? What are the (iv) 99T 3T, FnTg A 3.500
ie icing ? . )
obje.cts of transfer pricing ’ [8] (v) SNTA ¥ AT F B 800
TR J &7 MRl R fuiRa fbar o1 @war & 2
. > , (vi) T # sraeifa qeuerg 12,500
IR Jo ko & Stwg O qaga)
(vii) focfra gt # Jeumra &7 SR e 11,200
7. Prepare a reconciliation statement from the following
particular — (8] (viii)farha geqel & sprefert @ & @roy JPAr 5,700
) . (ix) a9 R @t T ¥ e w6 11,000
(i) Profit as per cost records 1,72,400 .
x) forira el ¥ smrax 40,300
ii) Profit as per financial books 1,36,755 . . .
(i) p - (i) forchta el # 7 36 & @ SR exdicRT goF 4,750
(iii) Works overhead under absorbed in cost 4,120 ) .
8. Define ‘Control Accounts’ and explain their significance in
(iv) Administration O.H. over recovered in cost 3,500 cost accounts. [8]
(v) ‘Selling O.H. recovered less in cost 800 : = @@l oRuia SR T arrg E?ET ¥ g
HEW B gHEY
(vi) Depreciation absorbed in cost 12,500 i !
(vii)Depreciation charged in financial books 11,200 SECTION - C
) g
(viii)Loss due to obsolescence charged in
financial books . : 5700 9. Mr. Shrikant commenced a Qontract on st April, 2015. The
‘ contract price was 5,00, 000 (estimated by contractee) but it
" (ix) Interest on Investment not included in cost 11,000 8 Wwas accepted by Shrikant at 10% less. It was decided to take
CP-1143 (6) ‘ CP-1143 (7 ' P.T.O.
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CP-1143

to the credit of P&L a/c that portion of estimated profit on
cash basis which the work completed b;ars to the tota]
contract. Actuals for the year 2015-16 and estimates for the

year 2016-17 are as follows : 120]
2015-16 2016-17.
Actual Estimated
Material issued 75,000 1,30.000
Labour paid 50,000 60,000
Labour accrued 3.000 -
Plant issued 40,000 -
Expenses incurred 20,000 35,000
Material at site 5,000 -
Work Certified 2,00,000  Full
Work unceru::«A 7.500 -
Cash received 1,60,000 Full
Plant returned at cost 15,500 25,000
(31.03.16) (31.12.16)

Depreciate plant @ 20% per annum. Contract is likely to be
completed on 31 December, 2016. Prepare contract account
and show your working. (20)
A DT 7 1 3, 2015 B TP IB BT BI AR AT
SF B YT 500,000 (SHEET gRT IFHEIGK) o1 wdlE
ASTT ERT $H 10% 59 g W WER fhar T T8
ﬁﬁﬂﬁﬁﬂnw%@wﬁmmmaﬂm
B @It # AP A w1 e Wi @ SR R 98 4T

(8)

# T T 201617 5 3o 79 o 2

2015-16 20-16-17
A T 75000 130,000
HA DT T 50,000 60,000
27 HT gaT 5,000 ‘ _
& v == 20,000 35.000
ge W ArTl 5000 =
P g 2,00.000 Fuli
B JARET 7,500 -
EEIB 1.60,000 Full
I e 15,500 25000
PHEd W (31.03.16) ©  (31.12.16)

A BT 20% @S ) A TG w0 1 o@ 31 R
2016 HI TS & P FAGT 8| ST WIdl €153 9 g
IReem yefifa S|

. 10. Calculate fixed overhead variance from the following :  [20]
Budgeted hours for the month 180 hours
Standard rate of articles produced 50 Per hour
Budgeted fixed overheads 32,700
= Actual production during the month 9,200 articles
CP-1143 (9) P.T.O.

! i il i Lo
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11.

12.

Actual hours of production 185 hours

Actual fixed overheads for the month 32,800
T T % et SuRer Aol ) o A
TR @ foU aore W 180 52
oGl B AFH R BT Sedre fHar 50 ufa wer
I9E T afm%a:r 32700
TN & IRA arEAF e 9,200 I
IAEA & aRdfds °e 185 5
TR & foy s frm siaveea 22,800

Write an essay on management control and cost information

system. [20]

The following two suggestions are under consideration : [20]

(@) 10% decrease in selling price will increase sales from
6.600 to 7,900 units. '

(b) 10% increase in selling price will decrease sales from
6,600 to 5,700 units.

The present cost is as follows :

Material and variable cost 3500
Selling price 31,000
Fixed expenses in total 330,00,000

Which suggestion be recommended ?

CP-1143 (10)

-

ﬁﬂf«"fﬁﬂmﬁﬂmafmgag:

() 2 0 35 10% o 33 ¢ P s 6,600 <
F'Haiag ,600 H 7,900

(b)ﬁm’ﬁﬁlo%qumﬁfwﬁmwmﬁsm
3PI3A1 TP e R -
aﬁmuﬁmmmmé—'

7500
fawa ge 1,000
T § FuiRg @y %30,00,000

39 B | G B RwIRe et ?

(11)
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CP-1143

M.Com. (Previous) Examination, 2019

ACCOUNTANCY & BUSINESS STATISTICS
Fourth Paper
(Cost Accounting and Cost Control)

Time allowed : Three hours
Maximum Marks : 100

SECTION - A (Marks 2 x 10=20)
Answer all ten questions (Answer limit 50 words). Each question carries 2 marks.
g - A (3% 2 x 10 =20)
T GH 1 & IR I (ST HHT 50 IE) | T e 2 3 HI 2 |
SECTION - B (Marks 8 x 5= 40)

Ansl\(ver any five questions out of seven (Answer limit 200 words). Each question carries 08
marks.

_ Ug -« (37 8 x 5= 40)
H1d 5 8 fol ule wedl & 3o fte (ST i 200 =) | Teis W9 08 3 1R |
SECTION - C (Marks 20 x 2 = 40)

Ansl\(wver any two questions out of four (Answer limit 500 words). Each question carries 20
marks. :

e - (31 20 x 2 = 40)
SR @ T gt vt & IR T (ST ian 500 1) | T W9 20 IH FTR |
SECTION - A
g - A
1. (i) Whatdo you understand by Commercial Tonne-Kiliometre ? 2
qferfeuss o fepetiiet & 319 <97 qusd @ ?
(i) What is meant by Cost Informations ? 2
AT R A 7 e R ?
(iii) What is meant by retention money in contract costing ? 2
3% oA H 7Y o & T AT @ 7
(iv) Give a precise Format of Process Cost Account. 2
sk AIrTa @rd 1 |t ey Tary |
(v) Explain two limitations of standard costing. 2
THIY ANTG AGeh @t g Hiaraat sl wg i |
(vi) What do you mean by Master Budget ? 2

AR S92 ¥ 39 T GO & 7
(vii) Fixed expenses is ¥ 90,000, Sales is < 3,00,000 and Profit is ¥ 60,000. Calculate
P/v Ratio. 2

fert =53 % 90,000, fosha T 3,00,000 o AT ¥ 60,000 & | AT -HEAT AT

T T |

CP-1143 1 P.T.O.
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(viii) Write a short note on Transfer Pricing. ‘f"\
FRAT=ILOT e o1 feoqoft ford |

(ix) If there is a loss as per Financial books ¥ 10,600, donations not shown in cost
accounts ¥ 6,000, what would be the profit or loss as per cost accounts ?

of fafia el % aFER T 10,600 Y @ & q@ g H TR 2 6,000 Hi AT
@l § wfirer 7 forar & o) etmTa ovat gro wefia = A wi wared |

(x) Where is the utility of Integrated Accounting ?

it i i el i 2 7 ’

SECTION - B
g - T

2. A Truck started its journey from Delhi to Ajmer with a load of 12 Tonnes. 3 Tinnes
were unloaded at Jaipur and a further 2 tonnes at Kishangarh. At Dudu a fresh load of
5 tons was loaded. It was fully unloaded at Ajmer. On its return journey it started with
8 tonnes from Ajmer which was fully unloaded at Jaipur. A fresh load of 11 tonnes
was taken from Jaipur which was unloaded at Delhi.

Distances from Jaipur are : Delhi 200 kms, Dudu 70 kms; Kishangarh 115 kms, Ajmer
140 kms.

Calculate Absolute and Commercial tonne-kms. for the above details of journey. 8
T T A NG AT 12 T A AR gt ° FAT % fore wreey Y | R H S H 3 |

T T 2 29 I FRTE § Sar R T | g @ 5 < e i i A R e e
T T SRR 3 I e T | araeh A § A @ 8 & I H g fohan T qen
T TSl S H Jar forn T | SEg A R 11 2 AT 1 g Tehan aut s et g
T IqW T

A & 37 R $ g e TR R

gt 200 Reet, gg 70 Foref, g 115 fore wrem aromie 140 ot

AT 3 39 Fran @ T o Reafiet aur et < fpaitet 1 wiewea i |

3.  Discuss the justification of Inter Process profits. How are such profits dealt within
process accounts ? 8

1 ST @l % sifac Y fee HRT | 38 TSR & A %1 wie S | 6
W saagT fRa AT & 7

2

4. From the following data relating to a contract extracted from the books of a company,

prepare contact account as on 31% March, 2018. Also compute the profit and the value
of work-in-progress for preparing the final accounts : 8

u HE 6 gEh A R 3% @ wrafRm fie v suee € ) 31 Wi, 2018 @ 3
QAT TS T AT G FAR H ¥ AN o o] HR Y 7o ot Hif -

® Q)
Material Issued 90,000 Work Certified 1,76,000
Wages paid 50,000 Work Uncertified 9,000
Plant Issued 75,000 Amount received 1,58,400
Salary paid 5,500 Contract price 3,00,000

CP-1143 2

Scanned with CamScanner



Yuu are further informed that
§‘)) BVV("R commenced of 1* October, 2017

i ages for one week and salar f, -

L or one month were due at :
(f”) l)cprcgmtmn lo be charged _@yl 0% per an(x)xznm‘:),n :la:te. the end of period.
(iv)  Material at site on 31" March, 2018 was ¥ 4,200.

m 3 Jfafes garend sveren § -

({.) 1 | aragEt, 2017 ) e fman |

(ii) T HATE Y FoIGl e O g 1 e IR |
(ifi) &= o 10 whrer anfdfes U @ g =t AT |
(iv) 31 wrd, 2018 @ amaft %1 9" T 4200 &A1 1

5.  Explain the following :
= mﬁa :
(i) Flexible Budget
AR T
(ii)) Cash Budget
Uhg M
6. From the following data calculate Labour Cost, Labour Rate, Efficciency and Rate
Revision variances :

Srferad el & 59 T, 29 €, HH Heda sy G U T 4 qReoE Hif -

Original Standard Rate of Wages T 3.00 per hour
Revises Rate of Wage after Award T 4.00 per hour
Actual Hours Worked 750
Standard Hours Produced 675

Actual Labour Cost (Due to overtime) ¥2,925

7 From the following data prepare the marginal cost statement and fmd out :
(i) P/V ratio (ii) Break-even point

(iii) Margin of safety (iv) The profit
ﬁmﬁlﬁaﬂaﬁaﬁﬁzﬂmmﬁm-ﬁmwamm

(i) TTH-HET AT i) eaforese-feg
(iii) G € (iv) ™
Direct Material 7 60,000
Direct Labour T 48,000
Variable Factory Overhead 25% of wages
Variable Office Overhead 10% of works cost
Variable Selling Overhead 15% of work cost
Fixed works, Office & Selling overhead T 48,000
Sales 2,500 units @ ¥ 80 per unit

8. Give any four reasons for difference in costing profit and financial profit and also

prepare a reconciliation statement using imaginary figures. _
AT ™ T farea @ | m%aﬁéaﬂwaﬁnwmﬁﬁwﬁm@ﬂﬂa

T wa frew FE |
P.Y

CP-1143
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9.

10.

11.

12.

CP-1143

SECTION - C b -
- —F H
From the following detailg prepare : 0

(a) Statement of equivalent production
(b)  Statement of cost

(¢)  Process account on First, in First out basis :

A w37, o ftee fafty o daw i
(31) I I91E 7 fyawor-u
(F) 0T 7 fyeror-q, qen
(W) fcran @

(@)  Opening work-on progress : 2,000 units
Material (100% complete) % 7,500
Labour (60% complete) ¥ 3,000
Overhead (60% complete) % 1,000
(b)  New units introduced in the process for the period 8,000 units.
Material ¥ 1,00,000, Labour % 78,000, Overhead 39,000
(¢)  Closing Work-in-progress : 2,000 units
Material  (100% complete)
Labour  (50% complete)
Overhead (50% complete)

From the following data, calculate fixed overhead cost variance and its various
components on the basis of standard hours : 20

fFrferfaa avst A fer suftera smma faeor qur sa% fafie et i giuET o el
% TR T HFC
Item Budget Actual

No. of Working Days 20 22

Standard man-hours per day 8,000 8,400

Output per man-hour (units) 1.00 1.20

Total Output (units) 1,60,000 2,21,760

Fixed Overhead T16,000 T 15,200

‘Marginal Costing is an aid for Managerial Decisions.’ Explain in detail 20
Hrar AT @i, Sahia vt wwes R 1 e @ g |

From the following information, make entries in the cost journal : 20
Freafaftga gaanatt @ e sHa | wfafdat fiftg -
Item Amount (X)
Purchases 3,90,000
Carriage Inwards 5,850
Stores Issued 3,58,800
Productive Wages 3,46,320
Works on cost 3,48,400
Unproductive labour 1,12,680
Material used in repairs 3,120
Cost of completed Jobs 12,80,630

TT———————
4
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